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Relevant Relations - Example
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Parameter d is the surface-potential equivalent for
the doping-density reduction from the compensating
implant and is depth, ti, dependent.
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Depletion width is extended from the implant.
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Volume density in implant region,
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Net density in implant region.
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Depletion-region charge oxide voltage.
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Depletion-region oxide votage function.

VB:=y/Ws + Yg - Vd
vg=1.648

Threshold voltage with implant.
Pinchoff surface potential.
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Impant voltage (notch in impurity distribution).
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Implant equivalent surface potential.
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Surface potential is that for the substrate minus that of the notch.
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Depletion width with implant.
wd = flws +wg) 2
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